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What is the question?
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Why should we care about it?
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What is your (or the author’s ) answer?
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How did you (or the author’s) get there?

VRS LA B KA 27 5%, DAL SRR S A B RS 5 2 v 22 B X e SR I
(CFPS) HRVE ZikKHE, LUE R T RURH 25 S H D E 2 R 5, (4 Rubin IR
RRRG A, A A28 fh) B B G A T o B Bl B T I A, AR B R R 32 TS
HIF /D4R, G BOPR AR NS RE BT A, R HAR N AR S5 e At & Bt S 2



BYLT BE

THIXR SEE AL SR
1 9. GO [P A R

2 I 7 t TN

3 fi F 8 1 A E pR L

4 0 7E t+1 e RAEIIHLRE

5 g F 8 SE 1 A E R

6 ¥ A AR RR N7 e i U IR I

7 orc, ERBaH e

8 S RO IRE A LA (1) 3 ]

9 Y B R A B

10 Yo M T A

11 Di N =

12 Co HH T B

13 4 o 18 AR 7L

14 K(-) % PR BN

15 Q AR O~11 Htr AH

16 Q HAR 12~2 Hfr A0

17 Qs HAR 3 ~5 A AL

18 Q HAR 6~8 A AL

19 7 TEAFHE T BRI 2 S ) B
20 G S BIEAE T TEUT VR s A S B v
21 Vi VR ) 4H

22 p REBBOR I

24 5 A B FLARBAAE 12 BRI AR T SR AT 5 A B S 8

S HE A table 1 } table 2




